15

©-

—_ L0 —
Toll!

O 2z

w =2




0-000 2

54

07.01

02.

(2)

<
COMMAN—-ANO
A1 O O0OOOuWw




0-0003

1 0001
1 0002
1 0003
1 0004




0-0004

0005

0006

0007

0008

0009

0010

0011




0-0005

0012

0-0038

NSP-SJ-2P(2C ) NSP-S

0-0039

0-0040

0-0041

0-0042

0-0043

0-00414




0-0006

; 600V
EM-CE 14sq-2C 5.5sq-R2C _3.5s09-1C | ...
109 0-0045
; 600V
EM-CE 3.5sq-1C 2sq-2C
109 0-0046
; 600V
EM- CE 3.5sq-6C L.
109 0-0047
3 600V
EM- CE 3.5sq-3C L.
492 0-0048
; 600V
EM- CE 38sq-2C 3. 5sd-1C .
158 0-0049
; 600V
EM-CE 5.5sq-2C 3. 5sqr. 1C | .
1,420 0-0050
3 600V
EM-CE 14sq-2C 5.5sq-2C _3.5s4d-1C | ...
2,260 0-0051
; 600V
EM-CE 3.5sq-1C 2sq-2C .
370 0-0052




0-0007

| 600V
EM-CE 3.5sq-6C |
370 0-0053
| 600V
EM-CE 3.5sq-4C |
1,890 0-0054
| 600V
EM-CE 2sq-3C |
174 0-0055
| 600V
EM-CE 2sq-2C |
168 0-0056
L=418
1 0-0057
(L=418)
372 0-0058
L=208
2,004 0-00509
L=130
4 0-0060




0-0008

3 (
G54 (2)

) G54 ( 2)

0-0061

38sq-2C 3.5sq-1C 5sq

600V EM-CE

0-0062

0013

LED

0-0065

KscC- 4

NH220




0-0009

10 0-0066
152 0-0067
3 ( ) 600V
VVR 8sq-6C 3.5sq-1C | .
13 0-00638
3 ( ) 600V
VVR 3.5sq-4C 2sq-3C |
25 0-0069
3 ( ) 600V
VVR 5.5sq-2C 3. 5sd- 1 C .
9 0-0070
3 ( ) 600V
VVR 14sq-2C 3.5s0q-1C| .
9 0-0071
3 ( ) 600V
VVR 14sq-3C 3.5s0q-1C| .
9 0-0072




0-0010

3 ( ) 600V
VVR 3.5sq-3C
9 0-0073
3 ( ) 600V
VVR 8sq-6C 3.5sq-1C | .
648 0-00714
3 ( ) 600V
VVR 3.5sq- C,2sq-3C |
1,300 0-0075
; ( ) 600V
8sg-4C 3.5sq-1C+1C | .
1,420 0-0076
3 ( ) 600V
VVR 3.5sq-5C+1C |
121 0-0077
3 ( ) 600V
VVR 3.5sq-4C+1C |
29 0-0078
3 ( ) 600V
VVR 3.5sq-3C+1C |
26 0-0079
3 ( ) 600V
VVR 8sq-2C
2,650 0-0080
3 ( ) 600V
VVR 8sq-3C 3.5sq-1C | .
110 0-0081




0-0011

3 ( ) 600V
VVR 5.65sq-2C 3.5sq-1C .
323 0-0082
3 ( ) 600V
VVR 14sq-2C 3.5sq-1C|
323 0-0083
3 ( ) 600V
VVR 14sq-3C 3.5sq-1C| .
1,590 0-00814
3 ( ) 600V
VVR 3.5sq-3C .
1,400 0-0085
3 ( ) 600V
VVR 8sq-6C 3.5sq-1C | .
2,240 0-0086
3 ( ) 600V
VVR 3.5sq-4C 2sq-3C |
2,600 0-0087
3 ( ) 600V
VVR 3.5sq-3C .
50 0-0088
3 ( ) 600V
VVR 2sq-3C .
134 0-0089




0-0012

(W=150)
238 0-0090
(W=100)
1,479 0-00091
1 0014
1 0015




0-0013

0-0093

x12.

77 %




0-0014




0001

0-0015

1
x 1 O e I S
1
1
TSC
T S C
1




0002

0-0016

0-0001




0003

0-0017

0-0002

0-0003




0004

0-0018

0-0010




0005

0-0019

10

0-0011




0-0020

0006
: C
&#8557;
1 0-0012
D
1 0-0013




0007

0-0021

600V EM-FCPEE(S

0-00114




0-0022

0008
3 ( )
FEPG65(1)40(21)30(L) |
‘ 8 0-0015
( )y PE70(7)
5 0-0016
| G22(1)
G22( )
‘ 5 0-0017




0009

0-0023

0-0018

0-0020




0010

0-0024

0-0023




0-0025

0011

CPEV(S)0.9-5P
13 0-0024

0.9-10P

25 0-0025

CPEV(S)0.9-5P
460 0-0026

CPEV(S)0.9-10P
1,550 0-0027




0012

0-0026

1 0-0028
------------------ 109 0-0030
--------------------- 1 0-0031
--------------------- 3 0-0032
--------------------- 1 0-0033
---------------- 109 0-0034
--------------------- 1 0-0035
--------------------- 9 0-0037




0-0027

0013
( MTD60)
8 3 12
95 0-0063
(NHT110 360)
78
78 0-0064




0014

0-0028

0-0092




0015

0-0029

62t/ 2.

5t/

3

0.

25

0.




0-0030

0-0001

To) o)) o\ <t o) o\ o\ o) <t
™ — — — —
—~ —~ —~ —~ —~ —~ N| ~ —~ N
N N N N N I N T
I QT I I I o I o
o o) o © o ©
\ - © [mle) (a) o (a) 0 o (a)
D.Iu D_ D_ D_ D_ D_VD_ D_V
w ., >uun>wUes>wUs >Ws >WUs ol s >Wes o0
dJNodd10o/d Od Od  Od©od,o4d ., oI
m < o< m <t m < m <t MmO m <t m O
o O © O n O o O o O o < o O o <
© < o< ™ < ~ < o< Te} o< To}
o [a o o — — N N
Ll Ll Ll Ll Ll Ll Ll Ll
< < < < < < < <
~ ~ ~ ~ ~ ~ ~ ~




0-0031

0-0002
1
0.5
2.0
1.0
M16*100 SUS304 4




0-0032

0-00083
1
24-8-40BB 0-0004
.4
-8-40BB 0-0005
1
0-0006
0-0007
0-0008
( )
0-0009
. 2*1. 4

.06




0-0033
24-8-40BB 0-0004




24-8-40BB

0-0004

0-0034

21-

8 -

40(W C=60%

)




0-0035
-8-40BB 0-0005




0-0036
-8-40BB 0-0005




0-0037
0-0006




0-0038
0-0006




0-0039
0-0007




0-0040
0-0007




0-0041
0-0008




0-004 2
0-0008




0-0043
0-0009

. 2*1. 4 1




2%

0-00009

0-0044

12.

5cm

17.

5cm




*

*

0-0010

0-0045




0-0011

0-0046

10-19-3.5

A B 1000*170*140

NO. 1 450mm

1 A 45sq 7/ 2.9

NO. 2 600*300 33. 7kg

P

E
L=2.2

100100 JI S C 3832

CP

75*65 JI'S C3845

3BD- HC- 17

20




0-0011

0-0047

G36

G22

G70

| BT-208

600V EM-CE

100sqg-3C

EM- FCPEE(S) O.

20 (SUS)
22mm
22mm
36 mm
36mMm
70mm
70mm
20 )

45sq




0-00438

0-0011
10
H FEP 30
H FEP 40
H FEP 65




0-0049

C 0-0012
&# 8557 ; 1
140*1500mm
140*1500mm 1
14d 22sg*500mm 1
1 1
140*90mm t =1mm 1
( )
600V EM-ITE 8sq 15
2
1.0
2.0




0-00183

0-0050

140*1500mm
140*1500mm

140 22sg*500mm

140*90mMm t=1mm

( )
600V EM-ITE 8sq

.25

. 35




600V EM- FCPEE(S)O0.9-5P

0-0014

100

0-0051

EM- FCPEE(S) 0.9-5P 100

100




0-0052

( ) 0-0015
FEP65(1)40(1)30(1) 100
FEP30
100
FEP40
100
FEP65
100
1.5
100




) PE70(7)

0-0016

366

0-0053

PE
PE70

(

) PE70

10

10

36




0-0054

G22(1) 0-0017
G22( ) 366
G22
G22 10
3
S-D1S15
S-D1S15 36

S-DbC25DC22
S-DbC25DC22

36

36




0-0055

0-0018
1
0-00109
0. 4
0-0007
0. 4
150mm* 50 m2 PE 0. 02
0.01




0-0056
0-00109




0-0057
0-00109




0-0058

0-0020
1
0-00109
0-0007
0-0021

0-0022




0-0059
0-0021




0-0060
0-0022




0-0061
0-0022




0-00283

0-006 2

. 44




0-006 3
CPEV(S)0.9-5P 0-0024
100

100




0-006 4
0.9-10FP 0-0025
100

100




0-0065
CPEV(S)0.9-5P 0-0026
100

100




0-0066
CPEV(S)0.9-10P 0-0027
100

100




0-0028

0-006 7

M10*70

SUS304

9.

7

0-0029




0-0029

0-006 8

.19




0-0030

0-0069

. 35

M10*70

SUS304

9.

7

. 63

0-0029




0-0031

0-0070

.30

. 55

M10*70

SUS304

9.

7

0-0029




0-0032

0-0071

.21

.39

M10*70

SUS304

9.

7

. 63

0-0029




0-00383

0-0072

M6 * 45

SUS304

.04




0-0034

0-0073

M6 * 45

SUS304

. 03




0-0035

0-0074

.41

.21

12

0-0036




12

0-0036

0-0075

.19

12




0-0037

0-0076

.29

.15

12

. 63

0-0036




0-0077

0-0038
1
EC-CE 14sqg-2C 5.5sg-2C 3.5s8p1C
EM- CE 2sqgq-3C
EM-CE 3.5sqg-1C 2sqg-2C 218

EM- CE 2sqgq-3C

EM-CE 3.5sqg-6C EM-CE P2sqgq-2C3[

EC-CE 3.5sqg-4C EM-CE P2sqg-2C6[




NSP-SJ-2P(2C ) NSP-SJ-3P(3C

)

0-0039

0-0078

NSP-SJ-2P(2C

)

10

NSP-SJ-3P(3C

)

11




0-0040

0-0079




0-0041

0-0080

SUS M4

11




0-0042

0-0081

280*50*T3

11




0-008 2

0-0043
1
(LED )
KCEO70- 2 10
10
FMN- 15A 10
265V-200V 3




0-0044

0-008 3

(S-K20-1AN)
S-K20-1AN

(S-K15A-1AN)
S-K15-1AN




0-0084

600V 0-0045

EM-CE 14s9g-2C 5.5s9q-2C 3.5sqg-1C 100

600V
EM-CE 14sq-2C 5.5sq- C 3.58Q80 C

100




0-0085

600V 0-0046
EM-CE 3.5s9g-1C 2sqg-2C¢C 100
600V
EM-CE 3.5sqgq- C 2sqg-2C 100
5.5
100




0-0086

600V 0-0047
EM-CE 3.5sq9g-6C 100
600V
EM-CE 3.5sqg-6C 100
5. 5
100




0-0087

600V 0-0048
EM-CE 3.5sqg-3C 100
600V
EM-CE 3.5sqg-3C 100
5. 5
100




600V
EM-CE 38sg-2C 3.5s0g-1C

0-00409

100

0-00 88

600V
EM- CE 38sqgq-2C 3.5sqg-1

10

10




0-0089

600V 0-0050
EM-CE 5.5s9q-2C 3.5sqg-1C 100
600V
EM-CE 5.5sqg-2C 3.5sqg-1C 100
5.5
100




0-0090

600V 0-0051

EM-CE 14s9g-2C 5.5s9q-2C 3.5sqg-1C 100

600V
EM-CE 14sq-2C 5.5sq- C 3.58Q80 C

100




0-0091

600V 0-0052
EM-CE 3.5s9g-1C 2sqg-2C¢C 100
600V
EM-CE 3.5sqgq- C 2sqg-2C 100
3. 8
100




0-009 2

600V 0-0053
EM-CE 3.5sq9g-6C 100
600V
EM-CE 3.5sqg-6C 100
8. 8
100




0-009 3

600V 0-0054
EM-CE 3.5sqg-4C 100
600V
EM-CE 3.5sq-4C 100
8. 8
100




0-0094

600V 0-0055
EM-CE 2sg-3C 100
600V
EM- CE 2sqgq-3C 100
8. 8
100




0-0095

600V 0-0056
EM-CE 2sq-2C 100
600V
EM- CE 2sqg-2C 100
8. 8
100




L=418

0-0057

0-0096

S-CTK4SN2
S-CTK4SN2

L=41

.15




(L=418)

0-0058

0-0097

S-CTK4SN2
S-CTK4SN2

L=41

.11




L=208

0-0059

0-0098

S-CTK2SN2
S-CTK2SN2

L=20

.11




L=130

0-0060

0-0099

S-CTK1SN2
S-CTK1SN2

L=13

.11




G54 (2)

) G54 ( 2)

0-0061

366

0-0100

G54

G54

10

10

54

54

73

36




0-0101

600V EM-CE 0-0062
38sg-2C 3.5sq-1C 5sqg-3C 1
Y 2
Y 2 1
0.5




0-0102

(MTD60) 0-0063
8 3 12 1
.06
1
7 0-00209

.18




78

(NHT110

360)

0-0064

0-0103

.06

.18

0-0029




0-0065

0-0104

.06

.11

.18

0-0029




0-0066

0-0105

. 08

.04

12

.18

0-0036




0-0067

0-0106

.01




0-:0107
( ) 600V 0-0068
VVR 8sq-6C 3.5sq-1C 100

100




0-0108
( )600V 0-00609
VVR 3.5sg-4C 2sqg-3C 100

100




001009
( ) 600V 0-0070
VVR 5.5sq-2C 3.5sqg-1C 100

100




00110
( ) 600V 0-0071
VVR 14sqg-2C 3.5sq-1C 100

100




00111
( ) 600V 0-0072
VVR 14sqg-3C 3.5sqg-1C 100

100




00112
( ) 600V 0-0073
VVR 3.5sqg-3C 100

100




00113
( ) 600V 0-0074
VVR 8sq-6C 3.5sq-1C 100

100




0-:0114
( ) 600V 0-0075
VVR 3.5sqg- C,2sqg-3C 100

100




000115
( )y 600V 0-0076
8sgq-4C 3.5sg-1C+1C 100

100




00116
( ) 600V 0-0077
VVR 3.5sqg-5C+1C 100

100




0-0117
( )y 600V 0-0078
VVR 3.5sqg-4C+1C 100

100




000118
( )y 600V 0-0079
VVR 3.5sg-3C+1C 100

100




0-0119
( )y 600V 0-0080
VVR 8sqg-2C 100

100




00120
( ) 600V 0-0081
VVR 8sq-3C 3.5sq-1C 100

100




00121
( ) 600V 0-0082
VVR 5.5sq-2C 3.5sqg-1C 100

100




0-0122
( ) 600V 0-0083
VVR 14sqg-2C 3.5sq-1C 100

100




00123
( ) 600V 0-0084
VVR 14sqg-3C 3.5sqg-1C 100

100




0-0124
( )y 600V 0-0085
VVR 3.5sqg-3C 100

100




00125
( ) 600V 0-0086
VVR 8sq-6C 3.5sq-1C 100

100




0-0126
( )600V 0-0087
VVR 3.5sg-4C 2sqg-3C 100

100




00127
( )y 600V 0-0088
VVR 3.5sqg-3C 100

100




0-0128
( )y 600V 0-00809
VVR 2sqg-3C 100

100




00129
(W=150) 0-0090
10




00130
(W=100) 0-0091
10




41

.9t

3.

42n® . 20. kOmm

0-0092

0-0131




41

.9t

3.

42n® . 20. kOmm

0-0092

0-0132

4t
(t)

2.

( km)

20.

Okm




0-00983

0-0133

27




	しおり(KGM103102.OVD)
	総括情報表（その１）
	工事内訳表
	工種明細表
	施工内訳表
	施工パッケージ内訳表
	施工内訳表
	施工パッケージ内訳表
	施工内訳表
	施工パッケージ内訳表
	施工内訳表
	施工パッケージ内訳表
	施工内訳表

